PETER C.P. THOMPSON, Q.C. 1 613,787,3328 pthompson@blg.com

Borden Ladner Gervais LLP World Exchange Plaza 100 Queen St, Suite 1100 Ottawa, ON, Canada K1P 1J9 T 613.237.5160 F 613.230.8842 blg.com



By electronic filing

October 4, 2013

Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street 27th floor Toronto, ON M4P 1E4

Dear Ms Walli,

Hydro One Netw	orks Inc. ("Hydro One")		
2014 Distribution	Rate Application	 	
Board File No.:	EB-2013-0141		
Our File No.:	339583-000163		

Pursuant to the Board's Partial Decision and Procedural Order No. 3 dated September 26, 2013, in the above-noted proceeding, we enclose a Cost Claim on behalf of our client, Canadian Manufacturers & Exporters ("CME").

A copy of this Cost Claim has been forwarded to Hydro One as instructed in the Decision and Order.

Please contact the undersigned if you have any questions or require any additional information.

Yours very truly,

Peter C.P. Thompson, Q.C.

\slc enclosure

c. Jamie Waller (Hydro One)

Don Rogers and Anita Varjacic (Rogers Partners LLP)

Paul Clipsham (CME)

ОТТ01: 5919184: v1

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required fields are filled in and the Affidavit portion is signed and sworn or affirmed.

		nstructions
New York Control of the Control of t	led fields. For	mulas are present in the document to assist with the calculation of the
cost claim.		
- All claims must be in Canadian dollars. If appli		
	Rate:	Country:
Disbursements Being Claimed") is required for each Fees and Disbursements" covering the whole - The cost claim must be supported by a completer - A CV for each consultant must be attached unless within the last 24 months.	ach consultan of the party's ted Affidavit s ess, for a given	
File # EB- 2013-0141	Process:	Hydro One Networks Inc 3 GIRM 2014 Distribution Rate Application
Party: Canadian Manufacturers & Exp	orters	Affiant's Name: Peter C.P. Thompson, Q.C.
HST Number: 10807 5482 RT0001		HST Rate Ontario: 13.00%
Full Registrant		Qualifying Non-Profit
Unregistered		Tax Exempt
Other		Tax Exempt
O tive!		
	7 15 (15)	Affidavit
I, Peter C.P. Thompson, Q.C.		, of the City of Ottawa
in the Province of	ntario	, swear or affirm that:
2. I have examined all of the documentation in s Being Claimed", "Statement(s) of Fees Being Clai 3. The attached "Summary of Fees and Disburse Disbursements Being Claimed" include only cost Ontario Energy Board process referred to above	upport of this med" and "St ments Being (s incurred and work done, or	Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of d time spent directly for the purposes of the Party's participation in the time spent, by a person that is an employee or officer of the Party as
Sworn or affirmed before me at the Cit	y of	Ottawa ,
in the Province of Ontario		, on October $\overset{\frown}{A}$, 2013 .
Commissioner for taking Affidavits		(date)

Norma Jean Jennings, a Commissioner, etc., Province of Ontario, for Borden Ladner Gervals LLP, Barristers and Solicitors. Expires July 9, 2015.

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Hydro One Networks Inc. - 3 GIRM 2014 Distribution Rate

File # EB- 2013-0141

Process: Application

Party: Can

Canadian Manufacturers & Exporters

Summary of Fees and Disbursements Being Claimed						
Legal/consultant fees	\$6,173.00					
Disbursements	\$119.00					
HST	\$817.96					
Total Cost Claim	\$7,109.96					

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

			Hydro One Networks Inc 3 GIRM 2014 Distribution Rate
File # EB-	2013-0141	Process:	Application
Party:	Canadian Manufacturers & Expo	orters	Name: Peter C.P. Thompson, Q.C.
			Completed Years Practising/Years of relevant experience
Counsel	/Articling Student/Paralegal:	\checkmark	45
	Consultant:		
	CV attached:		CV not required:

Statement of Fees Being Claimed							
	Hours	Hourly rate	Subtotal	нѕт	Total		
Preparation	9.50	\$330.00	\$3,135.00	\$407.55	\$3,542.55		
Attendance - Settlement Conference	5.50	\$330.00	\$1,815.00	\$235.95	\$2,050.95		
Case Management			\$0.00	\$0.00	\$0.00		
TOTAL LEGAL/CONSULTANT FEES			\$4,950.00	\$643.50	\$5,593.50		

Statement of Disbursements Being Claimed						
	Net Cost	HST	Total			
Photocopies: 276 copies @ \$0.25 each =	\$69.00	\$8.97	\$77.97			
LPIC Levy Surcharge (as per previous Cost Claims)	\$50.00	\$6.50	\$56.50			
Other:		\$0.00	\$0.00			
TOTAL DISBURSEMENTS:	\$119.00	\$15.47	\$134.47			

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2013-0141				
Process:	Hydro One Networks Inc.	- 3GIRM 2014 Distribution Rate Ap	plication		
Party:	Canadian Manufacturers	& Exporters			
Name:	Peter Thompson				
Jun 12/13		y 31, 2013 letter and Notice of Application ention and cost award eligibility request	0.2	Prep	
Jun 13/13	Letter to the Board requesting	Letter to the Board requesting intervenor status and cost award eligibility			
Jul 4/13	Reviewing Board Staff Interro	gatories	0.1	Prep	
Jul 11/13	Reviewing pre-filed evidence dictating and finalizing CME I	re: Smart Grid; considering, drafting, nterrogatories to Hydro One	1.5	Prep	
Jul 11/13	Considering Interrogatories fr	om CCC and SEC	0.2	Prep	
Aug 7/13	Reviewing Hydro One's Resp	0.2	Prep		
Sep 3/13	Reviewing prefiled evidence, Conference transcript in prepare	1.8 vw	Prep		
Sep 3/13	Email to H. Thiessen of OEB	0.1	Prep		
Sep 4/13	Attendance at Settlement Cor	5.5	Attend SC		
Sep 5/13	Considering, drafting and fina	0.8	Prep		
Sep 6/13	Reviewing draft Settlement Addictating and finalizing suggest Conference participants	1.8	Prep		
Sep 6/13	Considering and responding t	o email from P. Vlahos	0.2	Prep	
Sep 9/13		s intervenors; email from counsel for Hydronversation with Hydro One counsel	0.6	Prep	
Sep 10/13	Considering and responding t	o emails re: Settlement Agreement	0.3	Prep	
Sep 15/13	email re: comments thereon;	t Agreement; considering and composing considering emails from other intervenor	1.0	Prep	
Sep 16/13	representatives Considering various emails re	0.2	Prep		
Sep 26/13	Reviewing Partial Decision ar	nd Procedural Order No. 3	0.2	Prep	
		TOTAL HOURS for Peter Thompso	n: 15.0		
	<u>Hours</u>		<u>Fees</u>		
Prep	9.5 x \$33	0.00/hr =	3,135.00		
Attend SC	5.5 x \$33	0.00/hr =	1,815.00		

TOTAL FEES for Peter Thompson:

\$4,950.00

15.0

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

			Hydro One Networks Inc	3 GIRM 2014 Distribution Rate
File # EB-	2013-0141	Process:	Application	
Party:	Canadian Manufacturers & Expo	orters	Name: Vincent J. DeRos	e
			Completed Y	ears
			Practising/Years of	f relevant
			experience	<u>e</u>
Counse	//Articling Student/Paralegal:	7	11	
	Consultant:			
	CV attached:		CV not required:	✓

Statement of Fees Being Claimed							
	Hours	Hourly rate	Subtotal	нѕт	Total		
Preparation	2.80	\$290.00	\$812.00	\$105.56	\$917.56		
Attendance - Technical Conference	1.30	\$290.00	\$377.00	\$49.01	\$426.01		
Case Management			\$0.00	\$0.00	\$0.00		
TOTAL LEGAL/CONSULTANT FEES			\$1,189.00	\$154.57	\$1,343.57		

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



\$1,189.00

File #:	EB-2013-0141							
Process:	Hydro One Networks Inc. – 3GIRM 2014 Distribution Rate Application							
Party:	Canadian Manufactui	rers & Exporters						
Name:								
Aug 7/13	Prepare for Technical C	onference	2.8	Prep				
Aug 9/13	Prepare for and attend Technical Conference		1.3	Attend TC				
		TOTAL HOURS for Vince DeRose:	4.1					
	Hours		<u>Fees</u>					
Prep	2.8	x \$290.00/hr =	812.00					
Attend TC	1.3	x \$290.00/hr =	377.00	ž				

TOTAL FEES for Vince DeRose:

4.1

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

			Hydro One Networks Inc 3 GIRM 2014 Distribution Rate	
File # EB-	2013-0141	Process:	s: Application	
Party:	Canadian Manufacturers & Expo	orters	Name: Kim Dullet	
			Completed Years	
			Practising/Years of relevant	
			experience	
Counse	/Articling Student/Paralegal:		4	
	Consultant:			
	CV attached:		CV not required:	

	Statement o	f Fees Bei	ng Claimed		
	Hours	Hourly rate	Subtotal	нѕт	Total
Preparation	0.20	\$170.00	\$34.00	\$4.42	\$38.42
Case Management			\$0.00	\$0.00	\$0.00
TOTAL LEGAL/CONSULTANT FEES			\$34.00	\$4.42	\$38.42

Ontario Energy Board COST CLAIM FOR HEARINGS Detail of Fees being Claimed



File #:	EB-2013-0141			
Process:	Hydro One Networks Inc. – 3GIRM 2014 Distribution Rate Application Canadian Manufacturers & Exporters			
Party:				
Name:	Kim Dullet			
Jul 12/13	Review of CME Interrogatories		0.2	Prep
		TOTAL HOURS for Kim Dullet:	0.2	
	<u>Hours</u>		Fees	
Prep	0.2	x \$170.00/hr =	34.00	
	0.2	TOTAL FEES for Kim Dullet:	\$ 34.00	